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PART - 11 : MATHEMATICS
51. Find the quadratic equation, if x = \/5 +\/5+ V5+..00 andx is areal number,

X o8 b’“é&‘iféomg 20080320 xz\/5+\/5+x,?5+...oo o8 HAS 2.& 5%“‘55356;

A S0S%0.
(D x¥*-x-5=0 | 2) #+tx—5=0
(3) x*—x+35=0 (4) x2+x+5=0

52.  The values of ‘4’ for which the roots of quadratic equation x? + 4x + k= () gre real.
X +4x+ k=0 o 55gn:§b§dsao QOO0 TRTeN Wond ‘i

:)e.u;’)e.u
(1) k=24 k<4 (3) k=-4

(4) k<-4
__-_____-_._-__-'_"'---..,l
Sun’s elevatioy

53. Thepoleof9m hig_h casts a shadow 3+/3 m long on the ground, then the

9. FE3S 28 Bows(S Fop 33 do. Ko Has DEYBDS OB Hrtrgds dog

ésggg‘sab :
@ 60° (Z2)" 45° (3) 30° (4) 90°
54. How many multlples of 5 are there in between 33 and 3727
33 S08cs» 372 © S0¢g 5 G0 Hederen Q) &otrran?
(1) 66 (2) 63 (3) 68 (4) 67

55.. One of'the values of ‘y’ which satisfies the equation \/ & \/ e =-3-. (Where x+!
. 2

3-x 2%
and x # ().
\/3 2_:.: =-— 9030 :021)5653"&21 e'%_n o)ﬁa ‘x’ ﬁwgzr o, & Nend ('3115‘_)&3 1;,53 ‘L'-r*
(1) 1 2)2 2 \f‘3/) 3 : @) 4

56. Find the sum of the series
& (68 B8, Bndo Jos?

L+ 42+ (T4243)+ (14243 44)+ .+ (14243 + .. +20)
(1) 1470 (2) 1540 (3) 1610 #) 1370

_,—4—'-'_'—‘
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+5+... upto n terms .
Gesa i - =9 then the value of ‘5’ is

—

| ST W upto 8 terms

[+3+5+..nd0°0 3685

71+5+8+..8370 555
(1) 30 (2) 28 @) 25 (4) 35

=9 ©ond ‘n’ Jeny

1 |
[fthe m™ term of an AP, is — and n™ term is . then the (mn)h term is
| |
o.¥ ©0¥REAS® mS HSo s nS Heso = ®owd (mn) S H&o

I 1
1 o (2) 1 )= b @(i(m’rn)

m n

59

Find the slope of'the line joining the points ( Iogg, Iog;”] and ( log'zﬁ,logm )

(logg,log_f?) 08050 (Iog lOg; ) ©d DodHos o D8O A Tren
(1) log2 @) 1 HEN 4 0

60.

Find the length of the longest side of the trian gle formed by the line 3x + 4y = 12 with the

co-ordinate axes.
3x+4y =12 58050 dEFHTTOS AR BeHR0S ) wa DG ghzo FEH Joes?

(1) Otis ( 16 (B)ES 4) 7

61.

62.

If (2, 4) is the mid-point of the line-segment joining (6, 3) and (a, 5) then the value of g
is

(6, 3) 28050 (a, 5) o Sen) Bwrpodo g Do) (2, 4) wond a =

(I) 2 | (2) 4 3) 4 ) 2

InAABC, MN // BC, the area of quadrilateral MBCN = 130 sq.cm. If AN :NC=4:5then
the area of AMAN is sq.cm.

i ©r 15
3 39
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 BC=a,AC=5,BD = pthe
63. In AABC, if /B = 90°, BD is altitude on AC and AB = ¢, BC =4, 7 P hen

AC=b,BD sl
AABCS* /B =90°, AC botsts s i@ BD sobas» AB=¢,BC=a, e the
ZAPE
4 5830 &
003
b
e D
P
B a C
1 1
T el b
(W =35t ) m s
P a b . .
N1 | . ) 9
3) ﬁ:?+57 ® P aE 67. Ifthe si
64. Iftheratio ofthe corresponding medians of two similar triar}gles is 2:3 and the area of t = 3re3
smaller triangle is 48 cm?. then find the area of the larger triangle. G
(#) 108 cm? (2) 72 cm? (3) 96 cm? (4) 144 cm?

Sodd SErS (@abhere VEFS S

—_—

$giis Tpo ARG 2:3 Hodakw TSt AY) Bebee g8

Five cuh
o), TO50 48 5.20.5. o 2F @3z ITogo EHrsesm. resulting
(1) 108 50.8. (2) 72 B0, (3) 96 520,50, (4) 144 S0, ®owsH 2
65. From a point ‘P’ which is at a distance of 5 ¢m from the centre ‘O’ of a circle Gf rﬂdi‘f‘ 588 o
3 cm, the pair of langents PA and PR drawn to the circle. Then the area of the quadrilater!
PAORB js cm?. (). 38
3 ®o.20. Tgrgorr, O’ Soor e SHEE D So(@o M0d 5o.do. rdes il o T TT——

69. A cone of
&g DY P’ %908 PA 2y

0cn PB 63 $16i8pen Achedsd wand ot 26

it in the f;
PAOB o3 SE )0 3Tego t5.720.80. (1) 8cn
A (3) 9cn
(§' . LSO ;
o - S HFa:
o\<= 5cm P Nog?
SE) 8 .
3 9 o
. 25
e L) R s D Vg,
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In the figure, PA and PB are tangents of a circle with centre “O’ from a point “P’
/APB =60°. What is the value of ZAOB?
$00 Sod ‘O’ Bo@orr e $HEA8 P’ Sood Aoseadd dyGdmen PA, PB LZAPB =

wond LAOB=7

A
0 60 p
B
W 90° 2) 100° 3) 120° 4) 60°
67. Ifthe sides of a right triangle are x, 3x + 3 and 3x + 4 then the value of x is
X, 3x +3 300050 3x +4 e 28 voabe @hain By, ghEred ®ond, x Jend
(1) 9 @ 8 (3) 7 4) 6
68. Five cubes, each of edge 2 cm, are joined end to end. What is the total surface area c
resulting cuboid in cm??
©0 2 20.20: T o 5 dS5PoTresH ‘auéc:r"a)sééﬂ S0 Joad ©88oD a¥ 5%:{:0&
5r8)8 &R Jordse ITego $5.200.00. 0S5 Jod?
(1) 88 (2) 40 (3) 60 ('4{ 56
69. Acone ofheight 24 cm and base radius 6 cm is made up of inodelling clay. A child resh:
it in the form of a sphere. Find the radius of the sphere.
(1) 8cm (2) 6cm
(3) 9cm 4y 12cm _
3rddoff T 56" 24 00.50. Q&) SoBasn e Tgrgo 6 0.0, dro@ddn af YoS
B0srtrBohndod. uf JTg8 TR ErYPSrY) A¥omr Srg)Td. wand TR g
Joé?l
(1) * 80.5. (2) V6 e,
(3) 972505, 4) 12 0.5,
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: d one card is taken randomly [rop, e
70.  All face cards are removed from a deck of cards of'52 and on 0 |
remaining cards. What is the probability of getting a black ace? r 74, It
Sird)Hsomr af 5TR% h wd Seo) 95 wHb fo Howrdgd 0&?
1
I I — (1)
@ 0 Q) = @) *) %
26 40 s
: = 75. The
71.  The probability of an event ‘E’ is a number such that c—
a8 Hobd ‘E’ g Sogrdgd & Do eotnod. a<
0 <P(E) < 2) 0<PE)<I ; 35,
(3) 0<PE)<1 (4) 0<P(E)<I (1)
72. Ifanumber *x’ is chosen randomly from the numbers 1, 2, 3, 4 and another number Vs
selected randomly from the numbers 1, 4, 9, 16. Then match the probabilities of the 76. The
following.
1,2,3, 4 o dopge Sod od:vdﬁ;}éom ‘X’ @3 Sopg, 1,4,9, 16 @l Somge Kod
SSrGyBEorr Y @I Sopgio IBFAS §od ¢ Hogrdgen 2EHEEOBN. log-
|
P <1)= ; _
p) PGy<lI) a) 3 (1)
9 P(y<4)-= e
: 16 {0t 1o
3
r) P(y<9)-= c) —
s) 16 log
P(xy < 16) = d 0
r-:wow’ choose the correct answer,
2% > :
(1)3‘5; ﬁﬁ@ﬁ KJ:}J"G}"F@J QEﬁJclg":‘fl)ﬁJJ. (1)
=24,
3) P ng,rec,s—;d (2) p>d,q>c,ro>b,s—>a
The togy o 4) p2>cqodr—sas—ob G)
a3surface area of g solid hemisphere is 1087 cm2. Th isphereis
== oms - Lhe volume of the hemisphert®  7g Whic
WS ey |
i 0! ¥O DV Botrees = §08
$9.20.5. & VOFEe STogo 10871 $.200.00. ®ownd o9 WINBSr0 :
(1) 144 (1)
T \ —
(2) 5446 & 72n 4) 10846 e —
Taths & B .
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- fthe mean ofx and — is M, then the mean of x3 and ~17 =
74. X x
v $8030 = © Jftn M oond x° $28050 —lj- © S =
: z 5 = (Sl L
1) M @) M+3 () M@m2-3) @y M3
' 2
75. The mean and median of the data a, b and c are respectively 50 and 35, Where g <
c—-a=55thenb-a= s E.1
a<b<c a,bodasn c o WoESHE R8N HoBA%H SogRssnen Stodm 5 S9deg
35, c—a=55wo0n8 b—a= :
(1) 8 @ 7 s @) 3
: . sl
76. The solution of the equation log, log4 =0 is
()
log;| log, " |=0 ®@&H SD86wo B0 3¢S
2
(e x=1 (23/ =t (3) x=4 (4) x==+7
71. If logx*y* = g and log-'Ez b then log =
y log y
ngxzy?'-—-a 0B as0 10g£=b VoS logx -
¥ log y
a-3b “a+3b
1
() a+2b (\29/ a-2b
a+2b -
(3) @) a—2b
a-2b a+3b
78, Which of the following is an irrational number?
B0l e’ D6 E8das Somg?
22 | / B
(1) T @ 235 (3) n (4) 3.1416
-~ S __ . e
V-Mathe
Mdthb 18.C
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___——————__—_—__——_——_—__—— A -
. % 19 then the HCF of P and Q A

“'pzﬂx4x(1x...><2(}nm!():Ix_‘ixSx.. o

as y x4 x6x...%x 20508050 Q=1x3x5x...X 19 @008 P 508050 Q o K.30.0m,
p=2 s — .
1) 357 @) 245 (3) 3t 5% (4) 3°.52
T ——
80. Which ofthe following is true, if A = {1, 2, {3, 4}, {5}}?
A={1,2,{3,4},{5}} ©008 $0d TVS* & J&g0?
(1) {3.4}cA (2) 3eA
3) n(A)=5 (4) {5} €A
81. Match the following,
08 A BSJSHHS®.
A B " :
p A-(BUC) a)
. C :
M
9 (A-B)N(A-C) b)
8
M
) A—(BNC): )
n
s) (A-B)U(A-C) d)
(1) p»>aq—>br—cs—>d (2) P=2>a,qdq—>br—>ds—c —
(3) p—o>c,q—>cr—>as8—>a (46 P—8,q—>d,r>c¢,s—>b A V.
16-C
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Q. gatement1: A= {x:x€eZ and x <5} is a finite set. “'*-x:{i\@&
Sratement I B= {x xeNand x < 1} is a null set.
Choose the correct answer.
(8 TandII both are true. (2) TandIIboth are il
(3) listrue, II is false. . (4) Tis false, Il is trye
380 L2 A={x:xeZ %805 x<3} &8 008 B8,
HS3wSo I1: B={x:xeN $580» x<1} 2§ &rdg S8
50508 SETFTTR) ISE HoH0. |
(1) 108as0 I enBodsr 850 (2) I50005%0 II e Dok SIEAN

(3) Id&go, [[eddgo : (4) Tedggo, 1380
83. Ifn(A)=15,n(B)=13 and n(AﬂB) =10 then n[(AUB)—(AﬂB):\ e

n(A)= 15, n(B) = 13 %8050 n(ANB)=10 ®woxd n[_(AUB}(AﬂB)]:____
(1) 18 (2) | 3y ==10) (4) 8
84. Ifa,parethe zeroes of the polynomial p(x) = x* + 3x—4. Then ﬁndaquadratlc polync

whose zeroes are o and 2.
p(x) =% +3x — 4 05 25058 Bodkd Erargen o, P oo wond of, f? oo Hrargoon !

2§ 5Y 2B50HB ESTEID®.

S () s () o T
85. Ifa, B, y are the zeroes of ax + bx? + cx + d. Then match the following.

o, B,y @ ax’ + bx? + cx + d & Frrgoond 808 T BEHEBOE®.

D )T
) a+pey= i
1 1 1 b
r) + I = e
off Pr ra o
il el b* - 2ac
/a: By d) o
(LY p—b,q- »>d,r—>c,s—>a (2) p—>a,q—obr—cs—>d
(3) P—>c,q—>ar—>ds—b (4) p -->d,q-—>C,I"‘—>ﬂ~-“_’}B______

V-Mathe
Maths 17.C
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86. Ifone of the zeroes of X2 + ax2 + by + ¢ is —1 then the product of other two zeroes may |,
Y rax?+ by + cod DTVHH Q) 28 Er:égo —1 @028 NS Bold LrIgL ©uo I,
VOO wldstFo “@08? -
(1) b-a+1 (4)/ b-a-1
(3) a-b+1 4) a-b-1
1
87. If the sum of the roots of the equation e L zero, then the product of th
x+a x+b ¢
roots of the equation.
: + 1o oS $E6m0 AnY) Sarere Jogo 0’ ©ond, & D080 Gng
x+a x+b c
Srere 0RO
A ) &h
~a°+b _ (“ ~ )
o) DaA s
(1) > (2) >
2
ab (a - b)
st AN
i | O =
88. For what value of k, do the equations 3(k— 1) x + 4y =24 and 15x + 20y = 8(k + 13) have
infinite solutions?
k Bog), Q Dends 3(k—1)x +4y =24 So8a%» 15x + 20y = 8(k+ 13) @ dEderen
@S0 FrPden §9A dotiron? (3/
(1y=1 (2) "2 3 (4) 4
89. Ifan ordered pair satisfying the equations 2x—3y =18 and 4x -y = 16 also satishes the
equation 5x — py — 23 = 0 then the value of *p’ =
2x—3y=18 508050 4x—y =16 0 S HOT € EHocsnKyo Sx—py—23 =0 & &
6 508, PI0S______ @/
(1) (2) 2 - =l w2
90. Value of ‘x’ from the equations 2% =27 =32,

¥ty = ¥ =\/§5 @5 SHédere $H0d X’ Deod

? |
Tg 0 2) 3 3 3 @) -

| w
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The pair of equations y=0 and y=—8
45 NO common syt
n solution

Mst‘”i”n :

rcwm: The line y = mx, ( me R) IS passing through the origin

Lt 3 g
v, cho0s€ the correct answer.
W

0 :
N / Both Assertion and Reason are true and Reason supports the Assertion
Both Assertion and Reason are true, but Reason does not supports the Assertio
Assertion is true, but Reason is false. -

Ei; Assertion 1S false, but Reason is true.
gaus: V= 0 Ho8a50 y =—8 0 dWEderre 28K G508 FES ok,
go:  y=m, (meR) v 3660 SoroDokd) How, FHod.

259 HBG0D M_mcs“a'acl Q0§ So00.

(1) HELS, 57600 Bodor d&g 5080 PELSD, w0 HB0ZH08.
(2) BELS, 5820 Bodr JEgD, 5°Q 57800, HELII SJ0ousd.
(3) B3LS 3850, 5°0 5°8m0 ©HEg0.

4) @80 @850, 5°Q §8m0 J&go.

IfA=tan21°- tan19°, B =2 cot71°- cot69° then

A=tan21° tan19°, B =2 cot71°- cot69° @008 . w/

(1) 2A=B- (2) 2A=3B (3) A=2B W A=B
%, sinf=0.908 = cos(90 y =

(I) 0.908 )y 0.092 - (3) 59.092 4) 1
% If x=2sin’ 6, V= 2cos® @-+1 then which of the following is true?

x=2sin’@, y=2cos” @+1 ©ond §od TIS* B D&go?.

@) : x—y=1 @) x+y=2 @) x+y=3 4) 2+)*=3
5. If @ +\/ 8+ 16cosec’@+sin' @ = A cosecd +Bsind then the value of B

(here 0° < g < 90°).

A
M+I6cnscc49+sin49 — A cosecl+Bsin@ ©0208 B Negd =

- (@ 00 < g < 90°),

) - @) 2 @) 2 (4 !

Mty 19-C
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96. cos? 2°+cos? 40 + cos? 69% ...+ cos?90° = =
(1) 23 22 (3) 1 4) 0
97. Ifcosa =:2— and sin,ﬁz—z£ then the value ofa+ =
(0°<a<90°, 0° < B <90°)
'cosa=—;-_ Hodo%n sinﬁ=51 vod o+ f=
(0°<a <900, 0°<B <90°) }/
(1) 60° (2) 90° (3 45° 4) 300
}1-::059 2x
98, ! x l+cosg " 1—x?
=2x" =
=% ;
(2) cos@ (3) coto (4) tan®
X =2
T— : I S XFE2 80 FQotHSm.
2 S T
pEtse
2—x : . :
(1) 4 (2) -3 @2 @ 1
00. If sin and cosq are the roots of the equation ax? + bx + ¢ = () then p2 =
ax’ +bx + ¢ = 0 ws, DDEGed Samerers SInQ, cosa wond 2 =
(1) c®+2qc (\z;)a2+ac
() a*+2ac | 4) c2+qc
-Maths
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